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HoE F R KB OH E K E 435 t

[Br3% 357 t ] [B%E 78 t ]
B AREIXETEESE AL 6 % = MR AWEIXAIBRS AL 8 % FINEE N
B o4 B (BAR)
i 22 xR =

i g FERES B | & & % {8 Bh E FEEM | B A | H E % 1B
brA xR 200 g 97 86 | MDA FOER L 10 kg 5, 400
LA = B 250 g 108 — | BEAZMA — - —
ZE0Mk xR 200 g 108 97 | Wi OB 10 ke 3, 780 1,944
EONAED = B 200 g 108 64 || 51U EF & 10 ke 5, 940 3, 240
FhnE =N S 150 g 140 — | TR — = B 950 g 378 162
LwpwAEL x B 180 g 145 129 | WD DH> = B 250 g 378 162

— — = — — | EERE = B 270 g 1, 404 194

AN B 10 ke 2,376 1,728 | 7T—H A A % T 9 ke 14, 256
WA U A RIS 10 ke 3, 780 2,484
1< & & K 15 ke 4,104 3, 240
X p XY = A 10 kg 3, 240 2, 808
L& A g E 10 ke 3, 780 2, 700
w9 = IE 5 ke 2, 160 1,728
72 A 5 ke 2, 160 -
F= b e K 4 ke 2, 160 —
B [T St 150 g 118 —
EZAED R 2 ke 3, 024 1, 944
v Lok BEIR & 10 ke 4, 104 2, 700
TmERE s=all ) 10 ke 2,916 2, 700
A LW B 100 g 194 118
LHT £ 5 100 g 75 43




=R R P REE S R 3 3R ®miE K E®HREEKE 41 t

WM AWEEEREEHELY 9 % &  DSEL [/ 23 t ] [BE 9t ] [E+ 91t ]
B [ (BLiAR)
fif =<\ H T

b g FEEHM | B | &5 & E e E FEHEM | B | & E % fE
xS AHE K 1 ke 2, 376 1,944 | Y/ F U 1 kg 3, 024 1, 080
mESAE K 1 ke 1, 080 788 || YN JIVT o — 1 ke 1,188 702
% £ & 1 ke 1, 080 216 | #F = TAU 1ke 2, 160 1, 080
VA sl 1 ke 2, 700 432 | AH AOEK L 1ke 1, 458 —
AU B W 1 ke 432 108 | FU A L E 1 ke 4, 860 1,728
ANAA T 5 iR 1 ke 1, 166 993 | BTV = b8 1% 248 162
fEN<F T IR 1 kg 1,728 864
{&Z A IR 1 ke 1,728 216
A T E 1ke 2,376 1, 620
INE X & 1ke 756 702
7 rigE 1ke 1, 620 594
s Y= 1ke 3, 456 648
A Fnagk L 1ke 1,836 594
BTV BRE 1 ke 2, 268 1,188
BT 5 & [ 1 kg 2, 268 540




